
F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II BOW 24MK2BO

EYE STRAP RF1054  28 SPIN BOW 5985-0 EA $4.93

MAST SUPPORT FOR PULPIT 6540-0 EA $87.50

PLATE BACK-UP F-31 U-BOLT BOW 5819-0 EA $3.25

U-BOLT RF544 RONSTAN 2761-0 EA $15.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II HULL 24MK2H

BRACKET 24 HULL LEFT 504-0 EA $23.00

BRACKET 24 HULL RIGHT 505-0 EA $23.00

DRAIN TUBE 907006 897-0 EA $3.49

HATCH 6" VIKING 1139 WHITE 1221-0 EA $10.00

PAD 27 HULL BUMP 1814-0 EA $14.45

U-BOLT  RF559 2762-0 EA $10.80

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II FORE DECK 24MK2FD

BOW CHOCK 4-1/2 483-0 PR $32.00

BOW ROLLER  24 487-4 EA $72.50

CHAINPLATE FORESTAY W. BACKING PLATE 666-0 EA $45.00

CLEAT 8    CHROME 704-0 EA $19.50

HATCH MAIN (ALL BOATS) MAIN N1027-10AX 5574-0 EA $275.00

HINGE ANCHOR LOCKER F-31 SS SD205410 5403-0 PR $4.00

LABEL ANCOR LINE WARNING 1435-0 EA $2.08

LATCH FLUSH PULL BLACK 1463-0 EA $19.90

PAD BEAM BOLT  24 MKII X038-0 EA $18.75

PULPIT  24 1962-1 EA $292.10

SHEAVE BOW ROLLER F24MKII 5644-0 EA $21.85

SPACER BEAM BOLT PAD F-24 5514-0 EA $4.00

TOERAIL BOW F-24 2666-0 EA $62.50

U-BOLT  RF559 2762-0 EA $10.80

U-BOLT RF544 RONSTAN 2761-0 EA $15.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II DAG TRUNK 24MK2DT

CHEEKBLOCK SMALL SINGLE SCH. 303-09 672-0 EA $16.50

DAGGERBOARD  F-24 MKII 653-1 EA $705.00

PLATE BACKUP 27 D/B ALUM. ANODIZED 1872-0 EA $15.00

PLATE BACKUP 27 U-BOLT BOW ALUMINUM 1873-0 EA $1.33

Monday, January 22, 2001 Page 1 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II MID DECK 24MK2MD

BLOCK CHEEK 2.25 5099-0 EA $19.76

BLOCK SINGLE  24 MAST BASE RF1250 6073-0 EA $20.10

CAMCLEAT HARKEN 365A CARBO 613-1 EA $13.60

CAR GENOA LEAD ALUMINUM F24 & F27 STD 5558-0 EA $87.22

CLAMCLEAT CL201 PLASTIC 679-0 EA $7.35

EYE STRAP HARKEN 137 933-0 EA $1.45

HATCH MAIN COMPANIONWAY LOWER ACRYLIC 24/27/28 2415-0 EA $60.00

HATCH MAIN COMPANIONWAY TOP ACRYLIC 24/27/28 2416-0 EA $75.00

HINGE MODULE COVERS F-31 SS SD204390 5404-0 EA $5.20

PACKING BLOCK FOR HARKEN CHEEK BLOCK 1806-1 EA $22.00

PIN SHEAVE BOX F24MKII X356-0 EA $2.00

PLATE 27 MAIN HATCH FOOT 1889-0 EA $36.10

PLATE BACK-UP WINCH HARKEN 16.2 7002-1 EA $22.00

PLATE SHEAVE BOX F-24MK2 X354-0 EA $27.50

SHEAVE DAGGERBOARD CONTROL LINE F-24MK2 PNP 98F 5347-0 EA $1.80

SIDE SHEAVE BOX F-24MK2 X355-0 EA $11.00

TRACK 24 SHEET LEAD 2696-0 EA $26.48

WASHER 1/2   AFT MAST SUPPORT 2807-0 EA $0.20

WEDGE CAMCLEAT H145 LARGE 2855-0 EA $1.28

WINDOWS 24 SIDE (PAIR) 2877-0 EA $142.50

WINGNET ROPE RETAINER WHITE 2879-0 EA $1.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II POP TOP 24MK2PT

BRACKET 27 POPTOP 511-0 EA $10.00

BRACKET DECK PLASTIC BLACK RF1143 1311-0 EA $1.20

BUSHING POP TOP 590-0 EA $1.08

BUSHING POP TOP ADDINGTON 589-0 EA $0.55

CHAIN (SM PIN RETAINING) 656-0 FT $1.10

CHAIN ENDS WITH EYES 659-0 EA $0.32

END  STOP SHEET TRACK 74-35 GRAY 5815-0 EA $1.25

HASP PERKO 1194 1209-0 EA $13.08

HASP PERKO 998 3 1210-0 EA $20.60

HINGE DECK SIDE MOUNT SD 270250 1317-0 EA $8.35

INSERT POP TOP 1376-0 EA $1.08

NUT #10 BARREL BECKSON CHROME BRASS 1633-0 EA $0.41

PACKING BLOCK LOCK F27 UHMW POLY 1807-0 EA $10.80

PIN QUICK 3/16 1844-0 EA $5.78

Monday, January 22, 2001 Page 2 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
PLASTIC ACTL. BLACK 1/8 1866-0 FT $4.90

RIVET 1/8   BLACK 2054-0 EA $0.06

SLEEVE BRASS RETAINER (FOR BEAD CHAIN) 100-0 EA $0.20

TRACK 27 RF390 S.S. POP TOP 2693-0 EA $13.25

TRACK ENDS RF393 2688-0 EA $2.18

TRACK SLIDE RF397 I.D.  9509055 2697-0 EA $17.75

TRACK STOPS RF394 2701-0 EA $14.63

TRIMLOC 3/16    POP-TOP 2737-0 FT $1.59

TUBE S.S. 3/4 2750-0 FT $3.63

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II AFT DECK 24MK2AD

BLOCK SWIVEL HARKEN 146 455-0 EA $12.43

BRACKET 24 HULL BEAM RETAINING 506-0 EA $28.00

CAR TRAVELER HARKEN H1594   F-24 5499-0 EA $172.00

CLEAT 6 702-0 EA $14.00

COLLAR AFT MAST SUPPORT F-24   1" TUBE 6522-0 EA $0.00

COLLAR AFT MAST SUPPORT F-28 6024-0 EA $18.20

END STOPS FOR HIGH BEAM TRAVELER TRACK 924-0 PR $19.66

EYE STRAP  LOW PROFILE 073 935-0 EA $1.10

GUDGEON AFT MAST SUPPORT RF254 5417-0 EA $5.38

HATCH 6" VIKING 1139 WHITE 1221-0 EA $10.00

PAD 24 ENGINE MOUNT (INBOARD) 1812-0 EA $22.50

PAD 24 ENGINE MOUNT (OUTBOARD) 1811-0 EA $22.50

PAD BEAM BOLT  24 MKII X038-0 EA $18.75

RIVET 1/8    WHITE 5492-0 EA $0.08

SPACER BEAM BOLT PAD F-24 5514-0 EA $4.00

SPRING F-24 TRAVELER OUTHAUL BLOCKS 2448-0 EA $0.50

TRAVELER ASSEMBLY -PARTIAL-F-24 2714-0 EA $575.00

WINCH HANDLE POCKET SEADOG 2869-0 EA $13.50

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II RUDDER 24MK2R

BLOCK RF-185     TOPPING LIFT 450-0 EA $9.59

BUMPER RUBBER F-24 565-0 EA $2.50

CAMCLEAT RF5000 5459-0 EA $15.00

CLEAT 4 701-0 EA $2.73

EYE SADDLE RF134 931-0 EA $2.35

FAIRLEAD NYLON RF 59 947-0 EA $3.50

GUDGEON RUDDER BLADE F-24MK2 RONSTAN RF1332 5348-0 EA $47.00

GUDGEON RUDDER TRANSOM F-24MK2 X462-1 EA $18.00

Monday, January 22, 2001 Page 3 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
GUIDE 27 ROPE BLADE RUDDER 5096-0 EA $21.90

ROPE 3/8   GREEN 2093-0 FT $0.75

RUDDER BLADE F-24MK2 2129-1 EA $425.00

RUDDER BOX SIDE PLATE F-24MK2 X458-3 EA $109.50

RUDDER BOX SPACER F-24MK2 X461-0 EA $20.00

RUDDER LIFT TUBE X463-1 EA $12.00

TILLER BAR F-24MK2 X459-3 EA $18.25

TILLER HANDLE F-24MKII LONG  2"W,1-7/8"H,45-1/4"L 460-2 EA $108.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II AFT MAST SUPPORT 24MK2AMS

FLANGE PIPE PVC SCHEDULE 80 1.5 1006-0 EA $16.22

GUDGEON AFT MAST SUPPORT RF254 5417-0 EA $5.38

LIGHT BAR GROTE 49002 (TRIPLE RED) 1462-0 EA $16.00

PIN 1/4 X 1-3/8" CLEVIS AFT MAST SUPPORT 6235-0 EA $0.83

PIPE PVC 1 1/2 1861-0 FT $1.23

PIVOT SHAFT AFT MAST 1864-0 EA $12.50

RETAINING RING  .50 2024-0 EA $1.00

SUPPORT AFT MAST F24 & F27 1053-1 EA $142.40

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II INTERIOR 24MK2I

CAP NUT 1/4  PLASTIC     VC-437-8 619-0 EA $0.04

COVER FWD V BERTH MIDDLE F-31 AFT COCKPIT 5486-0 EA $37.50

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II NETS 24MK2N

ROPE 1/4   BLACK 2091-0 FT $0.60

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II BEAM 24MK2B

BEAM ASSY PORT AFT  F-24 AMBEAM- 24 EA $2,450.00

BRACKET 24 BEAM 496-0 EA $23.00

BRACKET 24 BEAM RETAINING ASSY. 497-0 EA $34.00

CHAIN (SM PIN RETAINING) 656-0 FT $1.10

CHAIN ENDS WITH EYES 659-0 EA $0.32

EYE SADDLE RF134 931-0 EA $2.35

PAD BEAM COMPRESSION 24 1809-1 EA $15.00

PIN RIGGING 3/8" DIA 2.5" 2045-0 EA $3.25

PLATE BACK-UP 24 BEAM BOLT PAD (306) 6503-0 EA $0.00

PLATE BACK-UP BEAMBOLT FLOAT ALUM. W. HOLE 1870-0 EA $1.68

Monday, January 22, 2001 Page 4 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
RING SPLIT 1-1/8 5321-0 EA $0.70

WINGNET ROPE RETAINER WHITE 2879-0 EA $1.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II FOLD SYS 24MK2FS

BUSHING NYLON 5/8 585-0 EA $1.00

PIN PIVOT LOWER FOLDING STRUT 1851-0 EA $15.00

PIN PIVOT UPPER FOLDING STRUT 1852-0 EA $15.00

RETAINING RING 5/8 2027-0 EA $1.50

STRUT 24 FOLDING LOWER 2533-0 EA $250.00

STRUT 24 FOLDING UPPER 2537-0 EA $158.00

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II FLOAT 24MK2F

CHAINPLATE FLOATS F24MKII 5524-0 EA $19.25

COVER CHIAN PLATE 791-0 EA $4.80

EYE SADDLE RF134 931-0 EA $2.35

EYE STRAP RF 1055 5425-0 EA $3.00

EYE STRAP RF528 934-0 EA $5.00

HATCH 4 1219-0 EA $5.50

HATCH 6" VIKING 1139 WHITE 1221-0 EA $10.00

LABEL WARNING MAST 1432-0 EA $2.38

NON-SKID 4 1627-0 FT $2.50

PLATE BACK-UP BEAMBOLT FLOAT ALUM. W. HOLE 1870-0 EA $1.68

PLATE BACKUP BEAM 1874-0 EA $2.00

RAIL 24 WINGNET AFT    65" 1998-1 EA $48.23

RAIL 24 WINGNET FWD    54" 1997-1 EA $31.00

RAIL 24/28 BOWNET      38" 1986-1 EA $28.50

VENT MIDGET 331360 6026-0 EA $1.50

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II LOAD KIT 24MK2LK

BLOCK DOUBLE W/BECKET 2.25 431-0 EA $55.63

BLOCK HEXACAT 5:1 MAINSHEET 447-0 EA $165.13

BOX TACKLE (TOOLBOX) 494-0 EA $14.93

BROCHURE F-24MKII 5682-0 EA $2.50

CHAINPLATE MAST RAISING F-24MK11 X365-0 PR $58.75

CLIP RETAINING FOR 7/16 1855-0 EA $3.00

COTTER RING 773-0 EA $0.50

EYE SADDLE RF134 931-0 EA $2.35

HANDLE WINCH 8 5100-0 EA $48.00

Monday, January 22, 2001 Page 5 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
HEX BOLT 1/2  X  1-1/4" 1272-0 EA $1.40

LOCKS 3 KEYED SAME 1512-0 ST $26.95

MANUAL SAILING 3064-0 EA $13.47

PIN CLEVIS 1/2  X 1   RF276 5317-0 EA $4.00

PIN DETENT 1/4   X    1-1/2" 1845-0 EA $5.50

PIN RUDDER SHEAR F24MKII X464-0 EA $17.50

POLE MAST RAISING F24MKII X298-0 EA $200.00

RETAINING RING 5/8 2027-0 EA $1.50

RIGGING 24MKII  PENNANT TACK 2044-1 EA $67.50

ROPE 1/4   BLACK 2091-0 FT $0.60

ROPE 7/16    WHITE 2102-0 FT $0.75

ROPE 7/16   WHITE W/BLUE FLECK 2103-0 FT $0.75

SHACKLE 3/16 2363-0 EA $3.13

SHACKLE LONG DEE 1/4 2361-0 EA $5.35

SHACKLE SNAP    RF 6120 2369-0 EA $27.40

SHOCK CORD SEADOG WITH HOOKS 2395-0 EA $2.53

SOCKET  3/4"       1/2" DRIVE   24 BEAM BOLTS 2423-0 EA $4.80

TOOLPACK-SCREWDRIVERS, PLIER,CRECENT 3173-0 EA $39.43

WASHER 1/2  X  1-1/4" 2805-0 EA $0.30

WRENCH 3/4           OL-008 2916-0 EA $9.45

WRENCH SPEED BEAM BOLT   1/2" drive 2919-0 EA $25.38

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II MAST 24MK2M

BOOM F-24MKII 6592-0 EA $1,250.00

BRACKET MAST FORESTAY F-24 (COL. SECTION) 6593-0 EA $87.50

CHAFE PROTECTOR HARKEN 285 6046-0 EA $15.38

EXIT PLATE S.S.  24  HALYARD  081011 6586-0 EA $3.94

GOOSENECK  FITTING F-24MKII MAST 6622-0 EA $37.50

GOOSENECK BLOCK 24MKII (COL. SEC) 6638-0 EA $18.75

MAST & RIGGING F24MKII W/MAST BASEPLATE 5341-0 EA $7,158.00

MAST BASE HEEL CASTING 24 6581-0 EA $85.60

MAST F-24 COL. ANOD/CNC 6546-0 EA $1,720.00

MAST STEP 24 (COL. SECTION) 6582-0 EA $55.60

MASTHEAD CRANE 24 ALUM. 6580-0 EA $118.48

PIN CLEVIS 1/2X 2-1/2 1834-0 EA $6.00

PLATE MAST PROTECTOR F-28R/31R  S.S. 6135-0 EA $7.50

POLE MAST RAISING 24 (COL. SEC.) 6664-0 EA $235.60

RIGGING 24MKII  HALYARD SPINNAKER 6512-0 EA $116.00

RIGGING 24MKII MAST RAISING WIRES 6623-0 EA $137.00

Monday, January 22, 2001 Page 6 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
RIGGING 24MKII STANDING RIGGING 6590-0 SE $760.00

RIGGING F-24MKII CAP SHROUD 6614-0 EA $0.00

RING SPLIT (ALL STANDING RIGGING) SD 193564 6331-0 EA $0.75

ROTATOR  ARM F-24MKII  (COL. SECTION) 6621-0 EA $175.00

SPREADERS 24 ALUM. MAST 6579-0 EA $323.10

VELCRO TIES 1" YELLOW 2789-0 EA $1.45

DESCRIPTION PART# UOM LIST PRICE

F-24 MK II BOOM 24MK2BOOM

CLIP RETAINING FOR 7/16 1855-0 EA $3.00

PIN CLEVIS 3/8 X 2-3/4 SS   92390A283 1837-0 EA $5.47

ROPE 3/8   BLUE 2094-0 FT $0.75

ROPE 3/8   RED 2092-0 FT $0.75

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: SAILS 24OP015

U-BOLT  RF559 2762-0 EA $10.80

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: ENGINE 24OPENG

OUTBOARD MOTOR 5 HP 20"   2 STROKE 1613-0 EA $1.00

OUTBOARD MOTOR 5HP  20"  4-STROKE 6389-0 EA $1,480.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: TRAILER 24OP013

PIN HITCH 1/2 1849-0 EA $9.50

ROPE 3/8   WHITE W/RED FLECK 5838-0 FT $0.41

ROPE 7/16   WHITE W/BLUE FLECK 2103-0 FT $0.75

TRAILER 24 STD W/BOW ROLLER 2709-1 EA $4,316.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: HEADSAIL FURLER 24OP014

BLOCK SINGLE W/STANCHION MOUNT BASE 061/166 NP 5572-0 EA $23.44

CAMCLEAT HARKEN 365A CARBO 613-1 EA $13.60

FAIRLEAD NYLON RF 59 947-0 EA $3.50

PLATE BACKUP CAMCLEAT HARKEN H-150 5451-0 EA $7.63

PLATE BACKUP FAIRLEAD SD082615 5453-0 EA $9.13

STANCHION MOUNT BASE    (USE 5572-0) 5573-0 EA $16.25

TANG ROLLER FURLING  F-24MKII (HARKEN 00) 6429-0 EA $11.25

Monday, January 22, 2001 Page 7 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: SPINNAKER CONTROL KIT 24OP023

BLOCK 225 H001 SINGLESWIVELSHACKLE 5626-0 EA $20.48

BLOCK H001/111 SINGLE W/SNAPSHACKLE 426-0 EA $57.50

BLOCK SINGLE W/STANCHION MOUNT BASE 061/166 NP 5572-0 EA $23.44

CAMCLEAT HARKEN 365A CARBO 613-1 EA $13.60

CLIP RETAINING FOR 7/16 1855-0 EA $3.00

FAIRLEAD NYLON RF 59 947-0 EA $3.50

FURLING UNIT SCREACHER 24 (H-3049 6259-0 EA $301.40

HANDLE WINCH 8 5100-0 EA $48.00

HEX BOLT 5/16x 2 3/4            316 SS 5043-0 EA $0.91

NUT 5/16 NYLOC 316 SS 1658-0 EA $0.22

PIN CLEVIS 3/8 X 2-3/4 SS   92390A283 1837-0 EA $5.47

PLATE BACKUP 27 U-BOLT BOW ALUMINUM 1873-0 EA $1.33

POLE SPINNAKER F-24MKII ASSEM. (HULL 122) 2443-1 EA $185.60

RIGGING 24MKII  BOBSTAY (SPIN POLE) 2031-3 EA $66.00

RIGGING 24MKII  GUY WIRE (SPIN POLE) 2034-0 EA $84.00

ROPE 3/8   GREEN 2093-0 FT $0.75

ROPE 3/8   RED 2092-0 FT $0.75

ROPE CLUTCH SINGLE SPINLOCK XA/1        F-24 2112-0 EA $51.00

SHACKLE SNAP    RF 6120 2369-0 EA $27.40

SPRING STAND-UP H-071 BOW SPINPOLE 5627-0 EA $0.75

STANCHION MOUNT BASE    (USE 5572-0) 5573-0 EA $16.25

U-BOLT RF544 RONSTAN 2761-0 EA $15.00

WEDGE CAMCLEAT H145 LARGE 2855-0 EA $1.28

WINCH B16.2A 3382-0 EA $225.76

WINCH HANDLE POCKET SEADOG 2869-0 EA $13.50

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: PERFORMANCE PACKAGE 24OP025

BLOCK H001/111 SINGLE W/SNAPSHACKLE 426-0 EA $57.50

BLOCK HARKEN 125 445-0 EA $7.08

ROPE 3/8   BLUE 2094-0 FT $0.75

TILLER EXTENSION 5-8'    RF3124 5233-0 EA $83.68

WIND INDICATOR WINDEX 15 2873-0 EA $52.00

WINDEX SUPPORT BAR 2875-0 EA $11.50

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: POP-TOP COVER 24OP026

LOCKWASH #6 SPLIT               31 1516-0 EA $0.02

Monday, January 22, 2001 Page 8 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
NUT #10 BARREL BECKSON CHROME BRASS 1633-0 EA $0.41

NUT #6                            31 1636-0 EA $0.08

POPTOP COVER STRIP 1934-0 EA $40.00

SCREW #10x1-1/2 PHP              31 2216-0 EA $0.12

SCREW #6x2 FHP                   31 2244-0 EA $0.07

WASH #6x 3/8 FLAT              31 2802-0 EA $0.06

WASH 1/4x 5/8 FLAT            31 2813-0 EA $0.14

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: STANCHINS AND LIFELINES 24OP028

EYE STRAP RF528 934-0 EA $5.00

HATCH  FLOATS (ALL BOATS)N1027-10AX-NL-IO 5575-0 EA $275.00

PIN DETENT 1/4   X    1-1/2" 1845-0 EA $5.50

PLATE BACK-UP 28/31 RAISING LOOPS 6161-0 EA $7.00

RIGGING 24MKII  LIFELINES 1477-0 ST $135.00

STANCHION BACKING PLATE UHMW 2455-0 EA $9.00

STANCHION BASE STD GARHAUER 1017-0 EA $17.50

STANCHION POST 2453-0 EA $15.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: COMPASS 24OP029

COMPASS PLASTIMO 101 6127-0 EA $260.00

COMPASS RITCHIE BN 202 (ALL BOATS) 6505-0 EA $241.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: HULL STIPING 24OP030

HULLSTRIPE BLUE 93 1367-0 FT $0.75

HULLSTRIPE MAGENTA 93 1366-0 FT $0.75

HULLSTRIPE RED 93 1365-0 FT $0.75

HULLSTRIPE TEAL 93 1368-0 FT $0.75

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: VHF RADIO & ANTENNA 24OP037

ADAPT REDUCING FOR COAX RG 58CU 227-0 EA $1.20

ANTENNA VHF METZ BASE 294-0 EA $43.00

CABLE COAX RG 58CU NEW STYLE) 607-0 FT $0.42

PLUG COAX STRAIGHT 1905-0 EA $3.98

RADIO VHF ECLIPSE  253635 1983-0 EA $423.25

VHF THRU HULL CAP 99 MODEL  200252 6406-0 EA $7.36

VHF THRU HULL FITTING 99 MODELS 200250 6405-0 EA $12.67

Monday, January 22, 2001 Page 9 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: SOLAR PANEL 24OP038

SOLAR PANEL 11W UNISOLAR FLEXIBLE 2427-0 EA $285.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: NETS 24OPN

NETS BOW  F24 SUNRISE  (BLACK) 6110-0 PR $377.00

NETS BOW F24 SUNRISE  ( BLUE ) 6110-3 PR $377.00

NETS BOW F24 SUNRISE  ( RED ) 6110-2 PR $377.00

NETS BOW F24 SUNRISE  ( TEAL ) 6110-4 PR $377.00

NETS BOW F24 SUNRISE (GREY) 6110-1 PR $377.00

NETS WING F24 SUNRISE  ( BLACK) 6111-0 PR $732.00

NETS WING F24 SUNRISE  ( BLUE ) 6111-3 PR $732.00

NETS WING F24 SUNRISE  ( RED ) 6111-2 PR $732.00

NETS WING F24 SUNRISE  ( TEAL ) 6111-4 PR $732.00

NETS WING F24 SUNRISE (GREY) 6111-1 PR $732.00

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: SPEED/LOG/DEPTH MULTIDATA 24OP035

INSTRUMENT MULTIDATA C400M (DISPLAY) 5375-0 EA $1,185.88

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: WINCH 24OP024

BLOCK H001/111 SINGLE W/SNAPSHACKLE 426-0 EA $57.50

FURLING UNIT SCREACHER 24 (H-3049 6259-0 EA $301.40

ROPE 1/4   BLACK 2091-0 FT $0.60

ROPE 3/8   WHITE W/RED FLECK 5838-0 FT $0.41

SHACKLE SNAP    RF 6120 2369-0 EA $27.40

STRAP WEBBING SPIN CONTROL X292-0 PR $65.00

WINCH B16.2A 3382-0 EA $225.76

WINCH B162STA SELFTAILING HARKEN 3383-0 EA $355.63

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: LIFTING EYES 24OP045

ADHESIVE #291 WHITE 230-0 EA $13.00

LOCKWASH 5/16 SPLIT            31 1518-0 EA $0.06

NUT 5/16 NYLOC 316 SS 1658-0 EA $0.22

PLATE BACK-UP U-BOLT 559 5464-0 EA $7.25

PLATE BACKUP LIFTING EYES UHMWPE 1877-0 EA $6.65

U-BOLT  RF559 2762-0 EA $10.80

Monday, January 22, 2001 Page 10 of 11



F-24 MK II PARTS PRICE LISTF-24 MK II PARTS PRICE LIST
U-BOLT RF544 RONSTAN 2761-0 EA $15.00

WASH 5/16x 7/8 FLAT           31 2826-0 EA $0.18

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: GALLEY 24OP031

CATALYST CLEAR HI POINT 90 644-0 LB $5.23

CATALYST RED HI POINT 90 647-0 LB $5.23

DRAIN WASTE FITTING  BS557 899-0 EA $11.40

ELBOW 1/2 3479-0 EA $1.50

FIBERGLASS CSM 1 1/2oz 25 967-0 LB $2.60

GELCOAT WHITE 953WN044 5050-0 LB $3.75

HOSE 3/4 1332-0 FT $1.85

HOSE 5/8 1333-0 FT $1.10

HOSE CLAMP #8 1/2-29/32 1340-0 EA $1.03

RAIL F-24 GALLEY MODU LE  SLIDE 6520-0 EA $0.00

SINK F-24 GALLEY MODULE   131-7 6496-0 EA $55.00

STOVE ALCOHOL KENYON B14010 #103 5596-0 EA $323.75

TAILPIPE CF 252 3/4 5370-0 EA $3.60

TANK WATER F-24 5 GAL.  97025 6589-0 EA $16.54

THRU HULL 3/4 5373-0 EA $9.95

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: INTERIOR LININGS 24OP033

CARPET MALIBU FABRIC LINER 634-0 YD $16.70

CARPET PRE-CUT BEIGE F-24MKII (HULL 295) 6455-0 EA $56.00

CARPET SILVER FABRIC LINER 636-0 YD $16.70

DESCRIPTION PART# UOM LIST PRICE

F-24 OPTION: ELECTRICAL SYSTEM 24OP036

BATTERY  F-24 SEAGEL SEALED  437467 325-0 EA $110.00

BATTERY BOX F-24 323-0 EA $4.74

BRACKET LIGHT FOR AQUA SIGN 25 S 1484-0 EA $35.98

COVER ALL BACK INSTRUMENTS 786-0 EA $27.00

HARNESS 24 Y2401 MAIN 1194-0 EA $26.52

LIGHT BOW BI-COLOR #25 12V/10W 1483-0 EA $17.00

LIGHT MAST PERKO 1491-0 EA $55.00

LIGHT STERN PERKO 965 5340-0 EA $28.40

LIGHT TWIN TUBE FLOURESCENT 1500-0 EA $52.40

PLUG AQUA SIGN 1902-0 EA $29.30

STRAP BATTERY HOLD DOWN 327-0 EA $7.33

WIRE #18/3 TINNED 1000 5931-0 FT $0.50

Monday, January 22, 2001 Page 11 of 11


